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Exam style questions

Q1




The diagram shows a cross-section of an artificial ski-slope standing on horizontal ground AFED.


The waiting area, BC, is horizontal and 6 m wide.

The beginners slope, CD, is 60 m long and makes an angle of 15( with the horizontal.

The advanced slop, BA, is 37 m long.

a)
Calculate the height CE






(2 marks)

b) Calculate the angle the advanced slope, BA, makes with the

horizontal.









(2 marks)


c)
Calculate the horizontal distance AD.




(3 marks)

Q2

AC is 4.5 m long



AB is 4.2 m long



Angle DAC is 26(


AD is perpendicular to BC


a) Calculate height, AD, 

of the sail.

(3 marks)

b) Calculate angle ABD

(2 marks)


Exam style questions

Q3
Diagrams not drawn to scale.



A top of a vertical cliff is 60 m above sea level.


At 23.45 on Thursday a life raft is 1800 m from the base of the cliff.

a) Calculate the angle of elevation of the top of the cliff from the life raft.

  (2 marks)


b) At 01.15 on Friday the angle of elevation of the top of the cliff from the life raft is 7.6(.  How far from the foot of the cliff is the life raft?

  (3 marks)

c)
At what speed, in metres per hour, is the life raft drifting towards the cliff?










  (2 marks)


Exam style questions

Q4
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Abbi is standing on level ground, at B, a distance of 19 metres away from the foot of a tree TE.

She measures the angle of elevation of the top of the tree at a height of 1.55 metres above the ground as 32(.

Calculate the height TE of the tree.  Give your answer correct to 3 significant figures.















  (4 marks)

Q5
The diagram represents the plan of 

a window frame.


The arc AB is a quarter of a circle.


The centre of the circle is at C and 

the radius of the circle is 68 cm.

a) Calculate the length of the arc AB.

Give your answer correct to 3 significant figures.


  (3 marks)


The window frame in (a) is replaced

 by double glazed panels.

These panels are only made in straight 

lengths.

The arc AB is replaced by three identical

panels AX, XY and YB.

b) Calculate the length of AX.

Give your answer correct to 2 significant figures.


  (4 marks)







